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Part-A (ENGLISH)

1, Who was charged wit

h th :
nephew? (The DyingD ARG

etective)

(1) Mrs. HudsOn (2)

Watson

o Dellasold her hair for
: dollars.
Gift For Christmas) R

(1) Tendollars @

. Twenty dollars
(3)  Thirtydollars (4

None of these

3. Which one of the following sentences has
been punctuated correctly?

\?/ He had said that he would go to Delhi.
2)  Hehadsaid that‘hewould go to Delhi.
(3)

(

He had sajd that hewould go'to Delhi?

4, What is the meaning of the word 'deft'?

(1) Skilful {2)  Serving
(3)  Stop ) Dislike

9 A man, whose hobby was_____ (Bed
Number 29)
(1) Riding (2) Playing football
(2) Readingbooks  {4) Painting

6. Machines give us more and more hours of

(WHERE IS SCIENCE TAKING US?)

(1)’ Hardwork 2]  Leisure
(3) Life (4)  Health

4)  Hehadsaidthathe would geto Delhi! -

7.

1.

Smith sent Holmes an infected sharp
springin

A red box

(f  Asiver box (2)
An ivory box

(3) A golden box (4)

Who has written the chapter "How Much
Land Does AMan Need"?

(1)  TarigRehman

2y LeoTolstoy
O'Henry.

(4)  .PhilippaAPearce

Chapter "Some Glimpses of Ancient Indian
Thought and Practice” is written by............

1)’ ©4Dr/D. V. Jindal

(247 &L Nehru

(3)  Rabindernath Tagore
(4).-  A.G.Gardiner

We should have faith that is always
with us.

(1) God (2)  Somebody
(3)  Everyman (4)  Nobody

The author regained his eyesight after the
.(Bed Number 29)

(1) Firstoperation

(2)  Second operation
\(3f Third operation
(4)  Fourthoperation
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12,

13,

14.

15.

16.

17.

To whom did Bobby Gillian give his one 18.

thousand dollars?

(1 Butler (2
(3) Lawyers )

Miss Hayden
Miss Lotta Lauriere

He is the symbol of tyranny, but of Iibert.y.
(Give synonym of underline word)

19,
(1) Dictatorship (2)  Freedom
(3)  Empire 4  Win
Who ordered to pull down the statue of the
Happy Prince?
20.
(0 Mayor (2) Swallow
(3) Seamstress. (4. “ Playwright
SirPertab Singh's frignd was soldier,
(1) Anlndian (2)  AChinese
-(3)  AnEnglish  (4)  APakistani
2

Give the meaning of the idiom, 'In the air"

(1) Simple and pure water
(2) Rated low

(3)  Valuable thing

(4) Found everywhere

He does not play cricket. (Change the 22,

voice)

“ Cricketdo notplay by him.

)
' f Cricketis not played by him.
) Cricketdoes notplayed by him,
) Cricketare not played by him.

They distributed the chocolates........... all
the children. (Use preposition)

Between
Beside

(1) Much (2)
(3)  Among (4)

He....(eat)food. (Use Past Indefinite tense)

(1) do eat (2" ate

(3)  does eat (4)  eaten

Neha has been saying............... 2 days.
(Use correct preposition)

) 7 Ear ) To

(3)  Off (4) Since

Lo, not speak fluent English when |

was little. (Use correct Model)
(1) Should (2)  Could
\(3)"  Can (4)  Need

One who does not believe in God. (Write
one word substitution)

W Atheist 2)

(3)  Theist (4)

Secular

Honest
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23.  Shewalksdaily. (Identify the tense) 24, You have done....... good action. (Use a
doterminer)

(1) PresentPerfect
(2 Future Continuous () A (2)  Some

/

(3)  PastIndefinite (3)  After (4)  The

(#)  Presentindefinite

Read the following passage and choose the correct option for questions 25-30.

Tea s the most commonly consumed beverage in the world. This is good news because tea offers important heaith
benefits. Its benefits were first discovered by the Chinese Emperor Shen Nung who declared thatit gives vigor to body,
contentment of mind and determination of purpose. Today there is ample proofthat tea in its many forms possesses
number of health benefits from supporting the immune system to reduce the risk of cancer, to help and preventing tooth
decay. What makes tea such a healthy drink? The star compounds are called categhins. Those are antioxidants that
help prevent cell damage by hafmfulimolecules called free radicals. Tea can be black, green and red and is derived
from a warm-weather everéreen iree known, as' Camelid Sinensis’Themiorespracessing, tea leaves undergo, the
darker they become. Green fea is the least proeessedteartt issimply:steamedquickly-and offers the maximum healing

powers because itisn't fermented. Italso helps preventtooth decay and aids weight loss.

25.  The most commonly consumed beverage 28.  Whichteaisthe least processed?
inthe world is
(yy Tea 2)  Milk (1)  Blacktea (2)  Redtea
(3)  Water (4)  Pepsi 3y~ Greentea (4)  Yellowtea
26.  Whodiscovered benefits of tea? 29.  "Beverage" (Synonym)

(1) Columbus 3y~ Drink @) Eat

{ The Chinese Emperor Shen Nung (3)  Assist (4)  Boosts
(3)  ShahJahan

(4)  TheFrench

27.  Whatmakes tea a healthy drink? 30.  "Prevent"  (Antonym)
(1) Caffeine \(2)/ Catechines (Y Stop (2)  Allow
(3)  Molecule  (4)  Mik (3)  Invest (4)  Hard
5
m
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36.

FraT-&t (AES)

»wIg fenw's r =@ IS =T

o) ar 2)  2=mr
3 axzr &) 3ar

2,3,4, THOH S S T2
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) 4 (C N

T AABCZADEFSt /A =......... T
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o
<D
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B R,

IXS! ISISH T AS IS T 93 fgaT
gera?

() 180" 27  360°

(3) 540" (@)

31.

32.

33.

34,

Part-B (MATHS)

Circumference of a circle with radius r js

D (2) «F
E 4 «B

=
N N

(1) Increases

(2)  decreases

(3)  remains proportional
(4)  Noneofthese

What is the H.C.F of 2 conse

cutive prime
numbers ?
(M o 2) 1
w3 2 (4)  Noneofthese

What is the Sum of all a3

ngles of cyclic
quadrilateral ?

(1) 180° )
(3)  540° (4)

360°
None of these

. ) am
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37

38.

39.

40.

41.

sec’0 TIET I I 37

(1)  cotA (2) 1
& 1+tan’0 (4)  cosA

5 WEBT T SRS wuveereennns IS 38
7 BFE ¥IET M3.......... Fadw
gre g9ET I T |

1 1,2 (2) 23

3y 0.1 4 1,1

8n wesT €t AeesT A @ud &dr 30
AT weeeens gt gl

( 0 20 1

(3) 2 (4) —3

feg o9 ot €0 I TU ceversen 40.

-

ﬁa?é%ﬁ?hﬁ%afzgewﬁwzg 41,

......... Ffde IS5 |
(1) AYIF I
2y gEx I
(3) @I

4) fegt frT et ot

Sec’0

(1)
(3)

is equalsto

cotA 2 1
1+tan0 (4)  cosA

Probability of an event occurence is 2

......... and < ..oceevnvernens

(1) 12 2) 23

(3 01 4 11
Probability of not likely eventis ...

@ g 4% 2 1

(3, 2 @4 3
Acirclecanhave............ parallel tangents
atthe most.

1) 2 2) 1

@ 3 @4 0

Line intersecting a circle at two points is

called

(1)
()

Tangentline (2)/ Secantline
Horizontalline (4) None of these

Check website : itori i
- www.meritorious.successadda.in for more updates , content & preparation of exam




43,

44,

45.

46.

fordt o 3 G 2 de g R afeR 42
I57?

) Gz (2
(3) femddw  (4)

seEdE
AHAE

(=2,-3) fdg oot suet few 43,
?

(O ufgst (2) —E.;ﬁ
3 S 4) o8

M fode Rt 2 b 52, Ja
I T5?

(D 0 @5 1

3) 2 4 3

W AABC~ADEF, 3" AB/DE = 45,
(1) AB @ BC/EF

(3) DE (4)  BC/AC

4,6,8,10,12, MEATEER ... 46,

et fag 102 uR S T 7

WZZ

()|

4y Angleof elevation

The angle above the line of sight i
called....

(2)  Angleofdepression
(3)  Lineofsight
(4)  Horizontalline

Inwhich quadrant does point (-2, -3) lies?

1 2 2
(3) 3rd \(ﬁ)/ 4lh

How many 90° angles are there in a right-
angled triangle?

IfAABC ~ A DEF, then AB/DE =

(1) AB (2)

BCIEF
(3)  DE (4)

BC/AC

What is the 10" term in the

AP serjes
4,6,8,10,12..c..nvrvov, ?
(1 4 2) 8
3) 1 4) 22




47.

48.

49.

50.

51.

%W%W -
59 AHtees @ urh

) X-x'+1=0 }3)

4 2 x3-5=0
(\%-‘) X -1=x"+2

X' =X +4=0

Rft TSt T AT § et fieht a7
% XIS 3 AT U AHTS-nisg =
3T IH S I=AT?

1 Fads  @F T
(3) MK IH (4) TIT%
3 gz f&o fasat &t fas3t faat 92
LY

(1) © w2y 2

3) 1 4 3

47.

48.

49,

51.

Which of the following equation is
quadratic?

(1) x-xX+1=0 (2)

What will be the solution if a pair of linear
equations turns out to be parallel lines
when solved by graphical method?

(1) Onesolution
\}2)/ No solution

3) Multiple solution

(4)  4solutions

How many zeroes are there in the given

figure?
y

1, ..

If o and B are zeroes of a quadratic
polynomial then the value of oc + B is:

M = @ b
(3) c+a “ 2
If two roots of a quadratic equation are real
then ..o
D<0
D>0
(;) D=0 (4)  None ofthese

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam




D2

53.

54.

D

56.

fex nizw B, ™ 5 o n

resh T X3 geods g2 52
ST

) 4) s

IS fofor Afimrer foy:

S 2) 3

(3) 5 C

sin(90°- 6) g9vg9 I: 54
(1) cosecH (2Z)7 sin90°-sin®
\@)/ cosH (4)  tan®b

1tan 85 ooy 3 55,
1+tan’45

(1) tan90’ (2) tan4s’

(3)  sin45’ Ny tan0’

tan 30° §9TET I 56.
(1 13 2 3

3) 1 NCER

10

How many factors do a prime NUmb,
have? .

Which of the following numbers is rationg|
number?

(1) V2 2 3
3) 5 4 5

sin (90°-0) is equals to:

(1) cosecO (2)  sin90°-sing
(3)  cos6 (4) tan 6
1-tan’45’

\1“3"2450 Isequals to:

(1) tan90° (2)  tan45’

(3)  sin45’ 4)  tan0°

tan 30°is equal to:

(1) 13 2 3

3 1 (4) 32

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam




57.

58.

59.

61.

53 f539 99, cos 0+ sin'0=......... 57

(” 0 \’:) |
sin 0 -
tan(: ......... 58.
(1) cotd \g/y/‘ 050
(3) sec (4)  cosecH
mHixasT 3x+2y=5/_£f§6x-4y:5 59.
3 g 7
L Jl K ~
W femtEds () JY s
(3) nexds (4 I
MBX-2€TEI"EX—§%'§ ............ 60.
fflg 3dee J|
(-2/3,00  (2) (2/3,0)
(3)  (-3/2,0) 4 (3/2,0)
Il 61.
p(x) = ax+h BTG weeeererss”
(1) HISIH
2) UTES
3) =AIIY -
(4) fewﬁ'?as?zﬁr
11

In given figure, cos’0+ sin’0= ..vevse.
(1) 0 2 1

@ - @4 2

tan 6= Lk

(1)  cot6 (2)  cosH
(3)  secd (4)  cosec®

() A Unique solution
(2)  Nosolution
(3)  Infinitely many solutions
(4)  Twosolutions
Graph of 3x-2intersects x-axis at....... point
(1) (230) (2 (230)
() (-320) () (3120)
Graphofp(x)= AXHD IS @ werrrrssrereees
(1) Straight Line (2) Parabola
(4)  None ofthese

@  Curve

Check website : itori i a i
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[2))
9]

64.

65.

66.

e 9/4 (D]

o wieHl wouw ax9 ding flrgat or
e ey d@ay

-9/4
=4/9

) 0 (2)

feg St sgus St w3

(O 0 @ 1

3 2 4 3

847 T n3H =AU RIS I?

i@) 7x11° (2) 7x11x13

(3)  11x13 (4) fegtfeg Tt sdr
T Afg wis™ Hitmi=sl p »3 lgl=T
&.H.2. ST g=ar?

(1) p+q (2) p-q

377 pa (4) feafeg ISt adt

grar—-AT (fefamis)

e 3T faz=:
(1) }éﬁéugwﬁ?ﬁramsm
Fuet T
(2) o _foures Giar yETIET € &TH T
frasfar Just I
P & JfeH

62.

63.

64.

65,

66.

What is the Sum of Zeroes of a quadratic
polynomial 4x’+9 ?

(1 o (2)  -9/4
@) 94 4)  -4/9

Degree of alinear polynomialis :

(1) 0 (2) 1
@ 2 4 3

The prime factorization of 847 is:

7x11x13

(N 7x11? (2)
None of these

(3)  11x13 (4)

What is LCM of two co-prime number p and
q?

(1) p+q (2 p-q
(3) pq (4) None of these

Part-C (SCIENCE)

Red data book:

(1) Maintain record of dead animals.

(2) recommends names of biodegradable
materials.

(3) Maintains the record of those creatures
which are threatened with extinction.

(4) Maintain record of human population.

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam

—_



67.

o
77

69.

70.

71.

faud MES3 19

Az fam /Yo 67.

(1) HEI 8 goara:

(2)  MNHT U™ R

(3} NES & "ynd)

(4) e RS et gy

CFC's fam fRe 293 wivr w9 68

(1) ©n3IStHag

(2) 5?;,:7-.72;@

(3) F< II5 T8 597

3 rcu H’;j

SECRICESER s B RS 69.

ff %' ¥ 1 i 7 -
=P Meudo

(1) SHIATIFEI

(2) Y&T AAJ

(3) "EHAL IS

,(w/lr/ feg AS

He Has e Qﬁf?tﬁfﬁwaﬁa? 0.

(1) e (2) an

(3) d<T \V‘)/ RELIRS

............... = Quua gIdl Aw 71

s Bz mEtAzT A J|

(‘) A (2) égw

(3) Trggs (4) HASMH

13

Chipko andolan was started in 1970 by?

(1) Sunear Lal Bahuguna

(':!) Amar pal sana
(3)  Madan Lal Swarmi
(4)  Noneofthase
CFC'sareusedin?

(1) Airconditioner

(2)  Refrigerator

(3)  Shavingfoam

(4)  Allofthese

Ozone layer depletion may cause

............

LTI rLTYr

b (vl diidcancer
(2), ¢ Bleodcancer
(3)  Geneticcause
(4)  Allofthese

What is the major source of energy in
ecosystem?

(1) Plants  (2) Sun
(3) Air (4)  Nuclearenergy
is used in making solar cell.
li Cobalt
(1)  Silicon (2) :
(3)  Carbon (4)  Sodium

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam




72. wfeQam e Y wed J: 72 Main constituent of Biogasis:

(2) H
(1) HS 2) H, (1) HS i it
3) CO, 4
(3) CQ, (4) CH,
73. fedafex ade = Sl gfee ot 7 73.  TheS.l. unitforelectric currentis called?
(1) &I (2) vt (1) Ohm \(2/)/ Ampere
(3) W 4) 78w (3) Volt (4)  Joule

74. Val T fswH fars yfsufes stzr? 74.  Val,lawwas given by?

)~ IBH (2) ee (1) Coulomb (2)  Watt
(3) 393  (R® Gy (3)  Faraday (4)  Ohm

75. 3 QM3 6 QT T YI9UL ANSIT gu 75.  Tworesistors of 3 and 6 Q) are connected

S 73 JT g51¥ yIeuat wr AT in parallel. What will be the combined
yStoust d=ar? resistance of the two resistors?
() 20 2) 90 (1 206 (2 90
3) 120 @ 10 @) 120 4) 10

76. faoz fom niufee STt Sas gt 76 Which part controls the focal length of lens

(Focal Length) & fauisfos qger 37 intheeye?

(" Pupil 21 Re
() y3d (3)  Ciliarymuscles erii "
2) dfes
(3)  frfent udt
4)  wrfefor

14
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77

78.

79.

' Mmsﬁ@mewémf—oﬁm .

fre fEET 37

R @ v

3 I 4) T

fox feniast &t Hox Re niess 9 18,

Sfymr 3fem T1 R forst &t oiy

g faoz femdt € 97

(2) HERRm

(3) ()3 ()<<

(4) feof &5 <t gt

fé‘a@gaﬁsﬁe?m43rs‘fm 79.

TIfert SR T covveenee GEGIN

(1) 25¢cm (2) 20cm %;,

(3) 40cm (4) 50cm e
2
80.

(3 memeHuRaAE3
4y %59 T YIH Ied M3 HY SdH
fegaa

15

)

Astronauts soothe colour of sky as?

(1)
(3)

Blue

(2)
Green

(4)

Red
Black

A man's spectacles have concave lens.
What s the defect of his eye?

(1) ear sightedness
Myopia
Both1and2

(4)  Noneofthese

The power of a Convex lens is 4 Dioptre. Its
focal length will be :

25¢cm (2) 20cm
(3) 40cm §4<) 50cm
_/ ;)/O‘I( o
PxE
T

Where should an object be placed in front
of a convex lens to get a real image of the

object?

(1) _ athalfthefocal length of lens
attwice the focal length oflens
(3)  atprinciple focus ofthelens

between optical center of lens and its
principle focus

(4)

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam




81.

82.

83.

84.

g5 vz @ Zam gt fast gt 8.

frrrrer 2ST MUfen™H 40 cm 2
N)/ 20 cm (2) 60cm
(3) 7.5¢cm (4) 10cm

safes 3 fan fAos &t ufsasusT 82

ST AT?

(1) o3t eIz e e fear

(2) IR B II A feaH

(3) nuex ufgeasst @mar A9
e/

\44{ Irfefeq ufgedss’ enmar At
feam

Jo fEfant f&8° faoz AHAs niart & 83,

BTgs= 5 T?

(1) B nPwg e 337
(2) A3 eI TH T ee

B TS T3 a3 R i U

(4) THIMEI M Ui e ¥g

J=HST fag uTe AT 57 84.

(" DNAfE®

(2) RNAfST
(3) HAwTdegfds
(4) HAzfstfeg

16

What is the focal length of convex Mirror
whose radius of curvature is 40 cm? '
(1) 20cm (2)
(3) 7.5cm (4)

60cm
10cm

Which of the following theory was
propounded by Darwin?

(1) Organicevolution by natural selection
(2)  Organicevolution by artificial method
(3)  Organicevolution by sudden changes
(4)  Organicevolution by chemical changes

Which of the following is NOT an example
of homologous organ?

)  Potatoand runners of grass

) Ourteethandan elephant's tusk
)  Ourarmandadog's foreleg

) Wings of batand birds

Where are the chromosomes found?

(1) InDNA

(2)  InRNA

(3)  Innucleusofcell
(4)  Inthecellwall

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam




86.

(3) WMIAHICHG (4) WASHS
g7. Jo fafumr f&9° faga Uer oois st 6.
T?
(1) frgdfess (2) wiafis
(37 femfss  (4) mEteafefss
gg. ufegee T fedss o® I@F6- 88
FfenraAEls, WS »iE 3 8ew
foams Tt yfafonr fag Tugeta?
(])/ !S@:aémm
7] IHIUBHAC
(3) MHEISTaT
(4) HECUSHH
89. g T IISHTImMH AT TT 89.
(1) A (2) uUEt
wm’) UBTHHT (4)  MBAIH
90. Waft g fFY fxgzT weaEiH Hoe 90

u—aﬂa'réﬂfé'ai_f? ......... T 85.
(1) IS \2) I Ut
(3) Tersdtans (4) usome

agwm%%aﬁuwfanmﬁa 86.

ger 9

() €= (Z) SIMHEIBH

3) BIEE (@) Dufeeds
17

The anther contains........

Sepals
Pollen grains

(1)  Ovules 2)
(3) Carpels (4)

The hormone which increases blood
pressure and heartbeatis

Relaxin

(1)  Adrenaline (2)
estrogen

(3)  Oxytocin (4)

Which of the following is NOT a plant
hormone?

(2)  Auxin

(1)  Gibberellins
Cytokynin

(3) Insulin (4)

The breakdown of pyruvate to give Carbon
dibxitlé, water and energy takes placein

Chloroplast

(1) ™ Nucleus (2)
Cytoplasm

(3)  Mitochondria  (4)

Whatis the fluid medium of blood?

water

(1)  Lymph (2)
Alcohol

(3) Plasma (4)

Which of the following enzyme is presentin
the human saliva?

) Sputum

) Salivaryamylase
) Salivary protein

) Pepticacid

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam




o1. Rsste nrvudt ot e, ame @ 91, Which olement covered the gap which, el

U Sar TS ST e EH A Y leftin Mendeleev's periodic table?
D0 (2) S (1) 0O (2) Si
: 3) ¢l Vi) Ge @ d (4) Ge

92. foHw fafim &9 faoz Sz = USHE 92 Which among the following element has |

NSUTEHH AZ 3 3T I ? largest radii?
(1) Na @ K (1) Na (2) K
(3) Mg (4) Ca (3 Mg (5) Ca

93. ﬁwﬁ?ﬁ%qﬁﬂ?mh%am 93

. What percentage of acetic acid contained
gera? invinegar?
(1) 1520% S @) 21-299, (T 15-20% (2)  21-29%
Gr~ 58% (4)  30-409% (3) 15-8% (4)  30-40%

94, WTE?HETWEBH?I: 94.  Thegeneralformula of alkyneis:
( CnH2n+2 (2) CnHzn (1) CnHZn+2 (2) CnHzn
(3) CH,, (4)  CH,, (3) CH, (4) CH,,

95. Fe,0,42A1 — 2Fe+Alo+ 89wr,fem 95

. Fe,0,+2A1 — 2Fe+A| .0;+Energy the
fafanrar a1 reactlon is named as: 9
\U/ A (1) Anodization (2)  Thermite
(2) HIHFE (3)  Amalgam (4)  Noneofthese
(3) "SI

(4)  fegt fog a2t ot

18
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nere 9 T2 weRgr f&
96. I s e 6. The non metal which is liquid at room
fHE N temperatureis:

3) C 4) | (3) (4 |
97. NaCOIOROZTY e I? 97, Common name of Na,C0,.10H,0.
(1) oS (1) Washingsoda
(2) UBHCI nE UfgnH (2)  Plasterof paris
D ERICCREY (3)  Bakingsoda
4) aBfgaulsy {4 Bleaching powder
98, THI WF&E‘TH@?E’TW 98,7 +Thethingwhich has no taste:
(1) ud (2)— et (1)~ Base (2) Water
3) 3 @y fegmd (3) Acid (4)  Allofthese
99. wiaHlxeE fEg deT d: 99.  Oxidationinvolves:-
(1) fegaes e (1)  Gain of electrons
2) TS T AT (2)  Addition of hydrogen
o e O AT (3)  Additionof oxygen
@ ISP (4)  Noneofthese

) fes e et adt

100. »EHT ETHST I:- 100. The formulaof ammoniais: -

(1) NH, (2)  NH, (1)
3" \H 4)  NH/ (3)
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